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1] 8323 | 8] 9| 8] 9| 9] 9| 7|10| 8,667| 30|-/OM2
2| 8338 | 8| 8| 7| 8] 9| 9| 7|10| 8,167| 30|SIM /Termoth2, RM2, OM1, PAC, Tribologie, Ed fiz3/OM2, Electroth, IA
3l 8342 | 9] 9| 7| 8| 8] 8| 9] 9| 8,267| 30[|-/RM1/OM2
4| 8350 | 9| 9| 7| 8] 9| 9|10|10| 8,667 30|-/OM1L/OM2, IA
5|/ 8355 | 8| 7| 7| 8| 8| 8[10| 9| 7,833| 30|SIM, Mecl/-/-
6| 8800 71 6] 7| 8| 7| 7| 8] 9| 7,133 51|AM, SIM, CE, Algebra/RM1, MN1/Electroth, MUPA, ER, IA, BAMA
7| 6727 71 51 O] 71 51 5] O] 9 23|Mec1, DTI1, Mec2, Algebra-5/RM1-3, RM2, OM1/MF-5, Electroth-8, MUPA-5, ER-8, IA-5, AHP, BAMA
8| 8395 | 9 7| 8| 8| 8] 9| 9]|10| 8,233 30|-/OM1, Tribologie/OM2
9 s417 | 9| 8 O 7| 7| 7| 7| 9 25|SIM/ -/ -
10| 7160 110| 7| 9| 9| 5| 5| 8| 7| 7,433| 47| -/-/ER, |IA, BAMA
11] 8446 | 9] 9| 8|10 9| 9| 6]/10] 8,833| 30|SIM/OM1, Practica dom-9/0OM2
12| 6820 9] 5| 5| 6| 5| 6| 8] 9| 6,133| 43|DTI1, DTI2, Algebra-5/RM1-3, RM2, OM1/MF-5, Electroth-7, MUPA-5, ER-8, IA, AHP, BAMA
13| ss03 | 9| 7| 7| 7| 8| 7| 7|/10| 7,533| 30
14 sso5 | 9| 7| 7| 9| 7| 7| 6| 9| 7,533 30(SIM/RM2/0M2
15| 8516 | 7] 8] O] 8 7| 7| 9] 9 25
16| 8517 | 9| 9| 7| 8] 9| 9| 8|10| 8,533 30(Mec2, Termothl /-/ -
17| 8531 |10{10]/10{10]/10{10|10|10 10| 30




18] 8551 | O 7| 6] 9| 7| 7| O]10 25|SIM /Mecanisme, Ed fiz2, OM1/OM2, AHP

19| 8557 |10] 8| 7| 8| 7| 7| 6[10| 7,767 30| -/Mecanisme, Ed fiz2, OM1, Ed fiz 3/OM2

20| 8559 | 8| 8| 7| 9| 8| 8]|10|10] 8,233| 30|SIM/OM1, PAC/OM2, IA

21| 8731 | 9] 9| 9]|10| 9| 9| 6|10 9| 30| -/OM2, Electroth-6, IA-6, AHP

22| 8564 [10| 7| 6| 8| 8] 8|10| 9| 7,867| 30|AM, GD, Mec2, DTI2, Algebra /RM1, TCD, RM2, OM1/OM2, AHP

23| 8584 | 8] 7| 6| 7| 6] 5] O] 8 28|SIM, GD, Mec?2 /Termoth2, OM1, VM/OM2, MF, |IA, AHP

24| 8589 | 7] 6] Ol 7| 5] 5] O 7 23|SIM, GD, Mec2, DTI2 /Mecanisme, Termoth2, TCD, OM1, PAC/OM2, MF, Electroth, MUPA, ER, IA, Limbal, AHP
25| 8602 | 9] 9/10]{10| 9| 9/10{10| 9,433| 30

26| 8606 [10|10(10{10{10|10]| 8]10| 9,867 30

27| 7743 71 O O] 6] O Of O] 7 18(SIM, DTI2, Algebra/RM2, MN1/OM2, Electroth, ER, IA, BAMA

28] 8640 | 9| 8| 7| 8] 8] 7[10|10| 8,067| 30|SIM, Mecl, Mec2 /OM1, VM/OM2, AHP

29| 8656 | 7| 7| 7| 7| 6] 6| 6[/10| 6,867| 30

30| 7778 | 7] 8 O 7| 7| 7| 7| 7 25|AM, SIM, Mec1, Mec2, Algebra/RM1, RM2, Ed fiz3, Practica dom/OM2, MF,Electroth, ER, |1A, BAMA
31| 7411 | 8| 8| 8| 8| 5| 5| 6| 7 7] 47]-I-/ER, IA, BAMA




